
 

 

CLASSROOM CONSOLIDATION (CRC) TEST 
 

1 2 3 4 5 6 7 8 9 10 
C C B C D B A A B C 

11 12 13 14 15 16 17 18 19 20 
B B B B B B B B B C 

21 22 23 24 25 26 27 28 29 30 
C C C C B B A D A A 

31 32 33 34 35 36 37 38 39 40 
C D C D D B B C D B 

41 42 43 44 45 46 47 48 49 50 
C B D B C B C B B D 

51 52 53 54 55 56 57 58 59 60 
A B B C A B B D C D 

61 62 63 64 65 66 67 68 69 70 
B C A B C C C D C B 

71 72 73 74 75 76 77 78 79 80 
D C C B D C A D D B 

81 82 83 84 85 86 87 88 89 90 
B A B A A C D D B D 

91 92 93 94 95 96 97 98 99 100 
B C D C D B D C C C 

101 102 103 104 105 106 107 108 109 110 
B C B C C B C C A B 

111 112 113 114 115 116 117 118 119 120 
D D C B A A B A B D 

121 122 123 124 125 126 127 128 129 130 
A A A A A D C B A C 

131 132 133 134 135 136 137 138 139 140 
D D B B C A B B C D 

141 142 143 144 145 146 147 148 149 150 
D A C B B D B B A C 

151 152 153 154 155 156 157 158 159 160 
D D C A B B B B B A 

161 162 163 164 165 166 167 168 169 170 
A A B D C B C A A B 

171 172 173 174 175 176 177 178 179 180 
C B D A C D B D C A 

181 182 183 184 185 186 187 188 189 190 
B C A D C C D D B C 

191 192 193 194 195 196 197 198 199 200 
C C A A A B A A D C 



 

 

176. The annual rate of growth in population of a town is 10%. If its present 
population is 26620, the population 3 years ago was________ 
a. 26000   b. 25100   c. 25000   
d. 20000  e. Answer not known 
xU efuj;jpd; kf;fs;njhif Mz;LNjhWk; 10% mjpfupf;fpd;wJ. mjd; 
jw;Nghija kf;fs;njhif 26620 vdpy;> 3 Mz;LfSf;F Kd; kf;fs;njhif 
_______ MFk; 
a. 26000   b. 25100   c. 25000   
d. 20000  e. tpilnjhpatpy;iy 

 

Explanation: 
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177. If 3 toys are sold at the cost price of 4 toys of the same kind, the profit will 
be:  

a. 25%   b. 33
1

3
%   c. 62

2

3
%    

d. 50%    e. Answer not known 
4 nghk;ikfspd; mlf;f tpiyf;F 3 nghk;ikfis tpw;gid nra;jhy;> 
,yhgk; vj;jid tpOf;fhlhf ,Uf;Fk;?  

a. 25%   b. 33
1

3
%   c. 62

2

3
%    

d. 50%    e. tpilnjhpatpy;iy 
 
Explanation: 

 
Let CP for 1 toy be Rs.x. 
∴ CP for 4 such toys = Rs.4x 
Since, SP for 3 toys = CP for 4 toys 
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178. 1 1 1
: :

x y z
= 2 : 3 : 5, then x : y : z is  

a. 2 : 3 : 5   b. 6 : 10 : 15     c. 5 : 3 : 2    
d. 15 : 10 : 6  e. Answer not known 
1 1 1

: :
x y z

= 2 : 3 : 5, vdpy; x : y : z vd;gJ 

a. 2 : 3 : 5   b. 6 : 10 : 15     c. 5 : 3 : 2    
d. 15 : 10 : 6  e. tpilnjhpatpy;iy 

 
Explanation: 
 
L.C.M. of 2, 3, 5=2×3×5=30 

30 30 30
: :

2 3 5
=  

=15: 10: 6 
 

179. Find the missing term in the series:  
3, 7, 6, 5, 9, 3, 12, 1, 15, ?  
a. 18   b. 13     c. -1    
d. 3   e. Answer not known 
njhlhpd; tpLgl;l vz; fhz;f:  
3, 7, 6, 5, 9, 3, 12, 1, 15, ?  
a. 18   b. 13     c. -1     
d. 3  e. tpilnjhpatpy;iy 

 
Explanation: 
 
There are two series, beginning respectively with 3 and 7. In one 3 is 
added and in another 2 is subtracted. 
The next number is 1 - 2 = -1. 

 
180. A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find the 

principal  
a. Rs. 7,200   b. Rs. 7,000    c. Rs. 7,300    
d. Rs. 6,200   e. Answer not known 



 

 

xU Fwpg;gpl;l njhifahdJ 8% tl;b tPjj;jpy; 5 Mz;Lfspy; &.10>080 
MfpwJ vdpy;> mriyf; fhz;f.  
a. &.7>200   b. &. 7>000    c. &. 7>300   
d. &. 6>200  e. tpilnjhpatpy;iy 
 
Explanation: 
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181. A father left a will of Rs.35 lakhs between his two daughters aged 8.5 and 

16 such that they may get equal amounts when each of them reach the age 
of 21 years. The original amount of Rs.35 lakhs has been instructed to be 
invested at 10% p.a. simple interest. How much did the elder daughter get 
at the time of the will? 
a. 17.5 lakhs  b. 21 lakhs   c. 15 lakhs   
d. 20 lakhs  e. Answer not known 
xU je;ij jdJ 8.5 kw;Wk; 16 taJila ,U kfs;fSf;F ,ilNa &.35 
yl;rj;ij capypy; tpl;Lr; nrd;Ws;shu;> mtu;fs; xt;nthUtUk; 21 taij 
vl;Lk;NghJ mtu;fSf;F rkkhd njhif fpilf;Fk;. mry; njhifahd 
&.35 yl;rj;ij Mz;Lf;F 10% jdptl;bapy;  KjyPL nra;a 
mwpTWj;jg;gl;Ls;sJ. capypy; Fwpg;gpl;Ls;s Neuj;jpy; %j;j kfSf;F 
vt;tsT fpilf;Fk;? 
a. 17.5 yl;rk;  b. 21 yl;rk;   c. 15 yl;rk;   
d. 20 yl;rk;  e. tpilnjhpatpy;iy 

 

Explanation: 
 

 ( )
5 10 (35 ) 12.5 10

35
100 100

x x
x x

  −  
+ = + −  

100x + 50x = 100(35−x) + 125(35−x)  
150x = 225(35−x)  
150x = 7875−225x 
375x = 7875  
x = 21 lakhs 

 

182. A television set was sold for ₹ 1,170 after giving successive discounts of 
35% and 10% respectively. What was the marked price?  

a. ₹ 1800   b. ₹ 1700    c. ₹ 2000    

d. ₹ 1900   e. Answer not known 



 

 

njhlh; js;Sgbfs; KiwNa 35% kw;Wk; 10% vd;wthW xU 
njhiyf;fhl;rpg; ngl;b &.1>170f;F tpw;fg;gl;lJ vdpy;> mjd; Fwpj;j tpiy 
vd;d?  
a. ₹ 1800   b. ₹ 1700    c. ₹ 2000    

d. ₹ 1900   e. tpilnjhpatpy;iy 
 

Explanation: 
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183. What will be the duplicate ratio of 2 : 7? 

a. 4 : 49  b. 49 : 4   c. 4 : 14   
d. 8 : 343  e. Answer not known 
2 : 7 –d; ,Ugb tpfpjk; vd;dthf ,Uf;Fk;? 
a. 4 : 49  b. 49 : 4  c. 4 : 14   
d. 8 : 343  e. tpilnjhpatpy;iy 

 
Explanation: 

 
2 22 : 7 4 : 49=  

 
184. If a sum of money compounded annually becomes 1.44 times of itself in 2 

years, then the rate of interest per annum is 
a. 25%   b. 22%    c. 21%   
d. 20%  e. Answer not known 
Mz;Lf;F xUKiw $l;L tl;b fzf;fpLk; Kiwapy; xU njhifahdJ 2 
Mz;Lfspy; mj;njhifapd; 1.44 klq;fhfpwJ vdpy; Mz;L tl;btPjj;ij 
fhz;f. 
a. 25%   b. 22%    c. 21%   
d. 20%  e. tpilnjhpatpy;iy 
 
Explanation: 

 
Let the Principal be 100  
Then Amount becomes 144 
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185. Every rational number is 

a. A natural number  b. An integer 
c. A real number   d. A whole number 
e. Answer not known 
xt;nthU tpfpjKW vz;Zk;  

a. xU ,ay; vz;zhFk;   b. xU KOf;fshFk;     
c. xU nka; vz;zhFk;    d. xU KO vz;zhFk; 
e. tpilnjhpatpy;iy 

 
Explanation: 

 
Real numbers are numbers comprising all rational and irrational 
numbers 

 

186. Sasi purchased a house for ₹ 27, 75,000 and spend ₹ 2, 25,000 on its interior 
decoration. He sold the house to make a profit of 40% what is the selling 
price of the house? 

a. ₹ 31, 20,000  b. ₹ 36, 00,000   c. ₹ 42, 00,000 

d. ₹ 48,00,000   e. Answer not known 
rrp xU tPl;il &.27>75>000 f;F thq;fpdhu;> gpd;G cl;Gwq;fis &.2> 25>000 
f;F moFgLj;jp mij 40% yhgj;jpw;F tpw;whu; vdpy; me;j tPl;bd; 
tpw;gid tpiy vd;d? 
a. ₹ 31, 20,000  b. ₹ 36, 00,000   c. ₹ 42, 00,000 

d. ₹ 48,00,000   e. tpilnjhpatpy;iy 
 

Explanation: 
 

New total price= (27,75,000+2,25,000 )=Rs.3000000 



 

 

100 Profit
. .

100

100 40
3000000

100

.42,00,000

S P C P

Rs

+
= 

+
= 

=

 

 

187. The fourth proportional of 6, 11 and 12 is  
a. 29   b. 23      c. 72    
d. 22   e. Answer not known 
6> 11 kw;Wk; 12 Mfpa vz;fspd; ehd;fhtJ tpfpjhr;rhu vz; vJ?  
a. 29   b. 23      c. 72    
d. 22   e. tpilnjhpatpy;iy 
 
Explanation: 
 
6 : 11 :: 12 : x 

12 11

6

2 11

22

x

x

x
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=
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188. A sum of money amounts to Rs 9800 after 5 years and Rs 12005 after 8 

years at the same rate of simple interest. The rate of interest per annum is 
a. 9%  b. 10%  c. 11%  d. 12% e. Answer not 
known 
xU Fwpg;gpl;l njhifahdJ Fwpg;gpl;l jdptl;b tPjj;jpy; 5 Mz;Lfspy; 
&.9800 MfTk; 8 Mz;Lfspy; &.12005 MfTk; khWfpwJ vdpy;> Mz;L 
tl;b tPjk; vd;d 
a. 9%  b. 10%  c. 11%  d. 12% e. 
tpilnjhpatpy;iy 

 
Explanation: 

 
S.I. for 3 years = Rs. (12005 - 9800) = Rs. 2205. 

2205
S.I. for 5 years = Rs. 5 .3675

3
Rs

 
 = 

 
 

 Principal = Rs. (9800 - 3675) = Rs. 6125. 

      
100 3675

% 12%
6125 5

r


= =


 

 
189. The given number 871378519 is divisible by  

a. 9   b. 11  c. 7   d. 13   e. Answer not known 
871378519 vd;w vz; fPNo nfhLf;fg;gl;l ve;j vz;zhy; kl;Lk; tFgLk;  
a. 9   b. 11  c. 7   d. 13   e. tpilnjhpatpy;iy 

 



 

 

Explanation: 
 

Difference of the sum of alternative digits of the number is divisible by 11
  

 
190. A trader buys an article for Rs. 1,200 and marks it 30% above the C.P. He 

then sells it after allowing a discount of 20%. Find the profit percent.  
a. 5%  b. 4½ %  c. 4%   d. 6%  e. Answer not known 
xU tpahghhp xU nghUis &.1>200 thq;fpdhh;. gpd;G mjd; mlf;ftpiyf;F 
Nky; 30% Fwpj;j tpiyf;F 20% js;Sgb nfhLf;fpwhh; vdpy;> tpw;w 
tpiyapd; yhg % vd;d?  
a. 5%   b. 4 ½ %  c. 4%   d. 6% e. tpilnjhpatpy;iy 

 
Explanation: 

 
Let C.P. of the article be 100 
M.P. =30% above C.P. = 130 
If C.P.  is 100, then M.P. is 130. 

  

1200 130
When C.P. is 1200,    M.P. 1560

100

20
Discount =20% of 1560= 1560 312

100


= =

 =

 

S.P. = M.P. − Discount 
       =1560−312= 1248 
Profit = S.P. − C.P. 
         =1248−1200= 48. 

48
Profit% = 100 4%

1200
 =  

 
191. If x : y = 7 : 4, then (8x + 5y) : (12x + 3y) is  

a. 19 : 12   b. 17 : 19    c. 19 : 24    
d. 24 : 19   e. Answer not known 
x : y = 7 : 4 vdpy; (8x + 5y) : (12x + 3y) d; kjpg;G fhz;f  
a. 19 : 12   b. 17 : 19   c. 19 : 24    
d. 24 : 19   e. tpilnjhpatpy;iy 
 
Explanation: 

 
(56 + 20) : (84 + 12) 
76 : 96 = 19 : 24 

 
 



 

 

192. In 30 litres mixture of acid the ratio of acid and water is 2 : 3. What amount 
of water should be added to the mixture so that the ratio of acid and water 
becomes 2 : 5.  
a. 19 litres   b. 15 litres     c. 12 litres    
d. 10 litres   e. Answer not known 
30 ypl;lh; cs;s mkpyf; fyitapy; mkpyk; kw;Wk; ePhpd; tpfpjk; 2 : 3. 
,f;fyit 2 : 5 vd;w tpfpjj;jpy; khw Nrh;f;f Ntz;ba ePhpd; msT vd;d?  
a. 19 ypl;lh;   b. 15 ypl;lh;     c. 12 ypl;lh;  
d. 10 ypl;lh;  e. tpilnjhpatpy;iy 

 
Explanation: 
 
2x + 3x = 30 
5x = 30 
x = 6 

12 2

18 5

60 36 2

12

l

l

l

=
+

= +

=

 

 
193. A number consists of two digits whose sum is 11. If 27 is added to the 

number, then the digits change their places. What is the number?  
a. 47   b. 65   c. 83   d. 92  e. Answer not known 
xU vz; ,uz;L ,yf;fq;fisf; nfhz;Ls;sJ. mtw;wpd; $Ljy; 11. me;j 
vz;Zld; 27If; $l;bdhy;> me;j ,yf;fq;fs; jq;fSila ,lq;fis 
khw;wpf; nfhs;fpd;wd vdpy;> me;j vz; vJ?  
a. 47   b. 65   c. 83   d. 92  e. tpilnjhpatpy;iy 

 
 Explanation: 
 

Let the no =10x+y  
Reverse no=10y+x 
x + y=11 ------I 

 
10x+y+27=10y+x 
9x - 9y = -27 
x – y = -3 -------II 
Solving eq I and eq II 
x = 4 and y = 7  
So number is 47 

 
 
 



 

 

194. Find the compound interest on ₹ 10,000 in 3 years, if the rates of interest 
for the successive years are 10%, 15% and 20% respectively. 

a. ₹5180  b. ₹ 5000    c. ₹ 4860   

d. ₹ 5100  e. Answer not known 
mLj;jLj;j Mz;LfSf;fhd tl;b tpfpjq;fs; KiwNa 10%> 15% kw;Wk; 
20% vdpy;> 3 Mz;Lfspy; ₹ 10>000f;fhd $l;L tl;biaf; fz;lwpaTk;. 
a. ₹5180  b. ₹ 5000    c. ₹ 4860   

d. ₹ 5100  e. tpilnjhpatpy;iy 
 

Explanation: 
 

110 115 120
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100 100 100

.15180
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195. The taxi charges in a city comprise of a fixed charge of ₹ 100 for 5 kms and 

₹ 16 per km for every additional km. If the amount paid at the end of the 

trip was ₹ 740 find the distance travelled.  
a. 45km   b. 35.2km    c. 40km    
d. 42km  e. Answer not known 
xU efuj;jpy; thlif kfpOe;jpd; (Taxi) fl;lzk; Kjy; 5 fp.kP 
njhiytpw;F &.100 -k;> mjd;gpd; xt;nthU fp.kP - f;Fk; $Ljyhf &.16 - 
k; epu;zapf;fg;gLfpwJ. xUtu; jdJ gazj;jpw;F nkhj;jkhf &.740 
toq;fpdhu; vdpy;> mtu; gazpj;j nkhj;j njhiyitf; fhz;f. 
a. 45fp.kP   b. 35.2fp.kP    c. 40fp.kP    
d. 42fp.kP  e. tpilnjhpatpy;iy 

 
Explanation: 

  
Let the distance travelled by taxi be ‘x’ km 

For the first 5 km the charge = ₹ 100 

For additional kms the charge = ₹ 16(x – 5) 
∴ For x kms the charge = 100 + 16(x – 5) 

Amount paid = ₹ 740 
∴ 100 + 16 (x – 5) = 740 
100 + 16 (x – 5) – 100 = 740- 100 
16 (x – 5) = 640 

( )16 5 640

16 16

5 40

45

x

x

x km

−
=

− =

=

 

 



 

 

196. Find the odd man out 
6, 11, 21, 41, 81, 171, 321, 641 
a. 81   b. 171   c. 641   d. 6  e. Answer not known 
gpd;tUk; njhlh;thpirapy; jtwhd vz; vd;d? 
6, 11, 21, 41, 81, 171, 321, 641 
a. 81   b. 171   c. 641   d. 6  e. tpilnjhpatpy;iy 

 
Explanation: 

 
Each preceding number is multiplied by 2 and subtracted by 1 
Then the number 81 x 2 -1 = 161 
So, 171 is the wrong number. 

 
197. By selling 45 lemons for Rs.40, a man loses 20%. How many should he sell 

for Rs.24 to gain 20% in the transaction? 
a. 18  b. 20  c. 16  d. 23  e. Answer not known 
45 vYkpr;rk;goq;fis &.40f;F tpw;gjd; %yk; xUtUf;F 20% ,og;G 
Vw;gLfpwJ. guptu;j;jidapy; 20% yhgk; ngw mtu; &.24f;F vj;jid 
vYkpr;irfis tpw;f Ntz;Lk;? 
a. 18  b. 20  c. 16  d. 23  e. tpilnjhpatpy;iy 

 

Explanation: 
 

40 100
Cost price of 45 lemons = 50

80

Selling price of 45 lemons to gain 20% profit

50 120
= .60

100

45 24
No. of lemons he should sell for Rs 24 to gain 20% profit= 18

60

Rs


=


=


=

 

 

198. A ribbon cut into 3 pieces in the ratio 3 : 2 : 7. If the total length of the 
ribbon is 24 m. Find the length of each piece respectively.  
a. 6 m, 4 m, 14 m    b. 14 m, 4 m, 8 m  
c. 6 m, 16 m, 4 m    d. 4 m, 6 m, 14 m  
e. Answer not known 
24 kP ePsKs;s xU hpg;gd; 3 : 2 : 7 vd;w tpfpjj;jpy; 3 Jz;Lfshf 
ntl;lg;gLfpwJ vdpy; xt;nthU Jz;bd; ePsq;fis fhz;f.  
a. 6 kP> 4 kP> 14 kP    b. 14 kP> 4 kP> 8 kP  
c. 6 kP> 16 kP> 4 kP    d. 4 kP> 6 kP> 14 kP 
e. tpilnjhpatpy;iy 

 
Explanation: 

 
Let x be the multiple. 



 

 

Ratio ⇒3x, 2x, 7x 
Total length = 24m 
∴ 3x + 2x + 7x = 24 
12x = 24  
∴ x = 2 
The length of each piece 
3x = 3 × 2 = 6m 
2x = 2 × 2 = 4m 
7x = 7 × 2 = 14m 

 
199. The difference between compound interest and simple interest on an 

amount of Rs.625 for 2 years is Re.1. What is the rate of interest per 
annum? 
a. 16%  b. 2%  c. 8%   d. 4%  e. Answer not known 
&.625f;F 2 Mz;Lfspy; fpilf;Fk; $l;L tl;b kw;Wk; jdp tl;b 
Mfpatw;wpw;F ,ilNaahd tpj;jpahrk; &.1 vdpy;> tl;b tPjk; Mz;Lf;F 
vj;jid rjtPjk;? 
a. 16%  b. 2%  c. 8%   d. 4%  e. tpilnjhpatpy;iy 

 
Explanation: 

 
2
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200. A bicycle marked as Rs. 1,500 is sold for Rs. 1,350. What is the percentage 

of discount? 
a. 20%   b. 15%  c. 10% d. 7%   
e. Answer not known 
xU kpjptz;bapd; tpiy &.1500 vd;W Fwpg;gplg;gl;Ls;sJ. ,jid &.1350 
f;F tpw;why; js;Sgb rjtPjk; vd;d? 
a. 20%   b. 15%  c. 10% d. 7%   
e. tpilnjhpatpy;iy 

 
  



 

 

Explanation: 
 

Marked price for a bicycle = Rs.1,500 
Selling price for a bicycle = Rs.1350 
Difference = Rs. (1500 - 1350) 
Discount= Rs.150 

The percentage of discount = 
150

100 10%
1500

 =  

 


